@ A thermodynamic system is taken from state A to state
B to state C, and then back to A, as shown in the p-V diagram
of Fig. 18-35a. (a)-(g) Complete the table in Fig. 18-35b by
inserting a plus sign. a minus sign, or a zero in each indicated

cell. (h) What is the net work done by the system as it Movesg
once through the cycle ABCA?
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@ A gas within a closed
cliamber undergoes the cycle
shown in the p-V diagram of
Fig. 18-37. Calculate the net L 1
energy added to the system as O 10 20 30 40 °H
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o48) Gas within a chamber
passes through the cycle shown
in Fig. 18-40. Determine the
energy transferred by the sys-
tem as heat during process CA
if the energy added as heat
Q4p during process AB is
20.0 J. no energy is transferred
as heat during process BC, *
and the net work done during
the cycle is 15.0 J. : 0 Volume
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@ Consider the slab shown in Fig. 18-18, Suppose that
=250 cm, 4 = 90,0 ¢m2, and the

: material is copper. If
Ty = 125°C, Te = 10.0°C, and a stead

y state is reached, find
the conduction rate through the sjab, 55Mm
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. A sample of gas expands from 1.0 m?* to 4.0 m* while its

pressure decreases from 40 Pato 10 Pa. How much “'“l'h |'.a ._Inm-
“
three

he gas if its pressure changes with volume via each of the
paths shown i the p-V diagram in Fig, 19-347
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AF . Consider that 20001 ol work s 1|u|1v UL _sislein anud
TOLO cal of heot s extracted Trom the system In the sense ol the

first law of thermodynamics, what are the values (including alge
brate signs) of ta) W, (b) Q. and (¢) AE !
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